; I |_'l'i ’
TECHNOMECH INTERNATIONAL

———

PIPE CLAMPS
& FLANGES




TECHNOMECH INTERNATIONAL

Clamping of pipes in installations is required for purposes of damping vibrations,
providing support to the installation and preventing loosening of joints and welds.

The traditional method of clamping pipes was to use ‘U’ bolts. While providing support,
“U” bolts cannot damp vibrations which leads to loosening of joints. This problem
became especially acute where the location of the ‘U’ bolt was at the node of vibration
in the system.

TMI Pipe Clamps, with their unique 4-rib construction design, prevent the
transmission of vibrations from the pipe to the frame and vice versa. They also provide
rigid support to the pipe both in the lateral and longitudinal directions, relieving
stresses caused by unequal movements in the pipeline. Clamp material differs to suit
relatively cold conditions to high temperatures upto 550° C.

Piping installations can be rigidly and safely mounted without any vibration
transmissal with the use of these type of clamps. High-impact forces encountered in
rolling mills, gun installations, military equipment,ships and other such applications
are damped and not transmitted. The rigidity provided by these clamps and the choice
of the clamp material prevents the loosening of joints and consequent leakages in the
system.



_Jmm
‘ tITII : Pipe Clamp Assembly - Standard Duty and Heavy Duty Series

TECHNOMECH INTERNATIONAL

STANDARD DUTY

PIPE CLAMPS

Standard Duty Pipe Clamps Standard Duty Pipe Clamps

are used in installations are also available for

having average loading wiht mounting on channels with

relatively light vibration in ‘T'nuts. Channels are

the system. These types of available in lengths of 1/2

pipe clamps are ideal for meter and are useful for

machine tool applications multiple clamping on a single

and in instrumentation base. They also allow

piping. flexibity of clamping where
The clamps may be the pitch between the pipes is

used without the top plate for ~ uneven. Channel-mounted

reasons of economy in Pipe Clamps may be used

equipment with very low or with or without the top plate,

no vibrations. Where depending upon the

relatively light to moderate application.

vibrations are encountered, Standard Duty Pipe

the clamps may be used Clamps are only available for

with a top plate for additional ~ pipe sizes upto 2" or 50 mm

support. OD.

HEAVY DUTY PIPE CLAMPS

Heavy Duty Pipe Clamps are Both weld plate and channel

used in installations where mounting designs are available
heavy pipes and high vibrations  only with top plate in view of the
are encountered. They are heavy vibration and loading
invariably used for trench encountered where there are
layout of pipes and in open- used.
weather conditions.
Heavy Duty Clamps with
Heavy Duty Pipe Clamps are polypropylene bodies are
available with weld plate available for pipe size upto s
mounting for all sizes and 8" or 222 mm OD in the current

channel mounting with special ~ program.

“T” nuts for pipe sizes upto

17 or 38 mm OD. Channels are  Heavy Duty Pipe Clamps are

available in lengths of %2 meter  also available in vertical

and are economical for multiple  mounting arrangement are

mounting on single channel. horizontal multi - clamp
arrangement either back to back
or run.



=
‘ tml : Pipe Clamp Assembly - Standard Duty and Heavy Duty Series

TECHNOMECH INTEENATIONAL

Both Standard Duty and Heavy Duty pipe clamps are also available in other mounting forms for compact and efficient piping
where the installation has multiple lines stacked vertically or horizontally. They may be used in horizontal back to back mounting
where excessive loads and vibration are encountered.

VARIOUS INSTALLATIONS

VERTICAL MOUNTING HORIZONTAL MULTIPLE MOUNTING

TMI multi-level clamps Standard duty Various sizes of pipe clamps can
permit easy mounting of = = - be provided on a single weld
several tubes or pipes of the plate where there is continuous
same group. This is also demand. Twin Pipe Clamp
possible in the event of varying Assemblt is popular for

size diameters. The clamps are 4 clamping two pipes on a single
connected by intermediate bolts weld plate. Such installations
and plates. Heavy duty provide inter-pipe rigidity.
Available in both standard and
heavy duty series also in kit form
to convert a single clamp using
into a dual or multiple one.

HORIZONTAL BACK-TO-BACK MOUNTING CHANNEL MOUNTING WITH OR
WITHOUT TOP PLATE

Horizontal Back-to-Back Standard duty
Assembly Permits use of
Single Heavy Duty Pipe
Clamp Assemblies in

locations of extreme vibration
and heavy loads where two or
more assemblies are mounted
on single weld plate.

Heavy duty




TECHNOMECH INTEENATIONAL

Pipe Clamp Assembly - Standard Duty and Series

ASSEMBLY WITH WELD PLATE & SCREWS

L b .
r— 1110~ = d -
| : !
2l nap=ss
‘ 7 -~ | k. \‘l_:
o B A% ==
[ I \'-\\{/ | .ﬂ'/i
. " .\\.,,_Jr_,,.r": 1
T T
=M=+

Group 1 only Group 1A to 6

ASSEMBLY WITH WELD PLATE TOP PLATE, & HEX. BOLTS

b [ b 0o
L
‘ o !

1
v |
Loy L]
A |
1 o |
1A L]
o
le——— 30—
Group 1 only Group 1A to 6
CHANNEL MOUNTING RAIL
'T' Nut
N
12
ey
b{—’ Ej FT i
= [ [
/ A i
L*ZB—-




tmhi

TECHNOMECH INTERNATIONAL

Pipe Clamp Assembly - Standard Duty and Series

REFERENCE-DIN3015 PART-1

PIPE SIZE (a) ASSEMBLY | TOP PLATE AND
GROUP | mm | INCH | NcH | P [ ¢ ] d |9 |t | WITHSCREWS | HEXBOLTS
oD 0D NB PART NO. ASSY.PART NO.
6 1/4 TOS. 06 ... T1S.1.06 ...
0s 8 28 126 |- 1 3 TOS. 08 ... T1S.1.08 ...
10 3/8 8 T0S.10... T18.1.10 ...
6 1/4 TOS. 06 ... T1S.1.06 ...
18 8 34|26 |20 |13] 3 TOS. 08 ... T1S.1.08 ...
10 3/8 18 TOS. 10 ... T1S.1.10 ...
12 112 TOS. 12... T28.1.12 ...
14 /4 TOS. 14 ... T28.1.14 ...
28 15 40133 |26 | 1 3 TOS. 15 ... T2S.1.15 ...
16 | 58 358 TOS. 16 ... T28.1.16 ...
18 TOS. 18 ... T2S.1.18 ...
19 | 34 T0S. 19 .. T3S.1.19....
20 a8 |35 |33 | 4 5 TOS. 20 ... T3S.1.20 ...
% 2 |8 112 T0S.22 .. T38.1.22...
25 1 TOS. 25 ... T3S.1.25 ...
28 34 TOS. 28 ... T48.1.28 ...
48 57 (42 |40 ] 2] 3
30 TOS. 30 ... T4S.1.30 ...
32 1.1/4 TOS. 32... T58.1.32 ...
35 1 TOS. 35 ... T5S.1.35 ...
58 70160 |82 23
38 1.1/2 TOS. 38 ... T5S.1.38 ...
42 1.1/4 TOS. 42 ... T5S5.1.42 ...
445 | 1.314 1112 TOS. 445 ... T6S.1.445 ...
6S 48 86 |69 |66 [ 3 | 3 TOS. 48 ... T6S.1.48 ...
50 2 TOS. 50 ... T6S.1.50 ...
57 2.1/4 TOS. 57 ... T7S.1.57 ...
60 2 T0S.60 ... T7S.1.60 ...
63 2112 TOS. 63 ... T7S.1.63 ...
78 122193 | %4 |18 5
70 2.3/4 TOS. 70 ... T7S.1.70 ...
73 2.1/2 TOS. 73 ... T7SA.73 ...
76 3 TOS. 76 ... T7S.1.76 ...
90 3.1/2 3 TOS. 90 ... 78S.1.90 ...
8s 148 118] 120( 18] 5
101 4 312 TOS. 101 ... T8S.1.101 ...
HOW TO ORDER
(A) For Single Clamps Assembly and Vertical Mounting Kit (B) For Multiple Clamps on Single Weld Plate
T -llﬂlllllllllllll
Pipe Clamp Assembly P Number of Clamps :
Vertical Mounting Kit  MKP Vertical Mounting : v
Group Number 08,18, Horizontal Back-to-Back: HB
For Assembly with Screws:  No Symbol Horizontal Side-to-Side: ~ HR
For Assembly with Pipe Clamp Assembly.
Top Plate and Hex Bolts : 1
Vertical Mounting Kit No Symbol Group Number 05,18,..
m I Multiple Clamps : Are always ordered with
20 Fipes Tuber: in Top Plate and Hex Bolts
For weld plate mounting No Symbol - - - - ;
For Channel mounting with T’ Nut CH Outside Diameter for Pipe / Tube in their order :

No Symbol (a) For Vertical Mounting : Starting from Weld Plate up

Vertiezl Maunting Kt (b) For Horizontal Mounting : Starting from left to right

Material

Polypropelene : NO SYMBOL
Polyamide UL : PA
Aluminium Al Si 12 : ALU

Material

Polypropelene : NO SYMBOL
Polyamide UL : PA
Aluminium Al Si 12 : ALU




TECHNOMECH INTERNATIONAL

Pipe Clamp Assembly - Standard Duty Series

ASSEMBLY WITH WELD PLATE, TOP PLATE, & HEX. BOLTS

B I I I
"_l___ii
i"z
L
"f

CHANNEL MOUNTING RAIL

R



tmhi

TECHNOMECH INTERNATIONAL

Pipe Clamp Assembly - Heavy Duty Series

REFERENCE-DIN3015 PART-1

PIPE SIZE (a) TOP PLATEAND | WT./PIECE
GROUP blc|w]|]L|t]|d m| g HEX BOLTS IN KG.
ggﬂ lng l:gH ASSY.PART NO.
6 114 T1H.1.06 ...
8 T1H.1.08 ...
10 3/8 1/8 T1H.1.10 ...
12 12 TIHA12 ..
1H 55132 |30 [73] 8 |33 [MiI0f 2 0.35
14 114 T1HA14 ..
15 T1H.1.15 ..
16 5/8 3/8 T1H.1.16 ...
18 T1H.1.18 ...
19 3/4 T2H.1.19 ...
20 T2H.1.20 ...
2H 22 7/8 12 70 148 |30 [85 | 8 |45 [ M1Of 2 T2H.1.22 ... 046
25 1 T2H.1.25 ...
28 3/4 T2H.1.28 ...
30 | 1.14 T3H.1.30 ...
H 35 1 T3H.1.35 ... 053
38 | 1112 Ll B B L L e PR '
42 1.1/4 T3H.1.42 ...
50 2 1.12 T4H.1.50 ...
R 2_Liis| 0 | 45 [ 0] 10 [s0s| miz| 3 160 180
63 | 212 ‘ T4H.1.63 ...
65 T4H.1.65 ...
70 T5H.1.70 ...
73 2112 T5H.1.73 ...
5H 76 3 152] 120| 60 | 180] 10 |122 [ m16[ 3 | TSH.A.76.. 3.00
89 | 3.1/2 3 T5H.1.89 ...
90 T5H.1.90 ...
101 4 3.112 T6H.1.101 ...
8H 114 | 4112 4 205(170 | 80 |225] 15 | 168 | M20| 4 T6H.1.114 ... 8.00
127 5 4112 T6H.1.127 ...
141 | 5.1/2 5 T7H.A.141 ...
7H 150 6 2501 2001 90 | 270] 15 |205 | M24] 4 T7H.1.150 ... 11.00
168 | 6.1/2 8 T7H.1.168 ...
8H 219 | 8112 8 330 270] 120] 340] 25 |268 | M30| 4 T8H.1.219 ... 24.00
HOW TO ORDER
(A) For Single Clamp Assembly and vertical Mounting Kit (B) For Multiple Clamps on Single Weld Plate
T L [ ] [ ] ® ® L ] p T [ ] [ ®
Pipe Clamp Assembly P Number of Clamps :
Vertical Mounting Kit MKP Vertical Mounting - v
Group Number 1H,2H... Horizontal Back-to-Back : HB
Pipe Clamp Assembly. Horizontal Side-to-Side:  HR
With Top Plate & Hex Bolts 1 Pipe Clamps Assembly
Vertical Mounting kit No Symbal
Group Number 1H, 2H.,..
OD of Pipe / Tube : in mm =
Heavy Duty Pipe Clamps Always
PIPE CLAMP ASSY. Available With Top Plate And Hex Bolts,
With Weld Plat No. Symbol.
W:th 'T'?NutsaFgr Channel Mounting ° yT:HO Outside Diameter for Pipe / Tube in their order :
(For Group 1H To 3H Only.) (a) For Vertical Mounting : Starting from Weld Plate up
Vertical Mounting Kit ’ No Symbal. (b) For Horizontal Mounting : Starting from left to right
MATERIAL OF CLAMP BODY Material
Polypropelene : NO SYMBOL Polypropelene : NO SYMBOL
Polyamide UL : PA Polyamide UL : PA
Aluminium Al Si12:  ALU Aluminium Al Si12:  ALU




TECHNOMECH INTERNATIONAL

WELD PLATE

e

Designation of Weld Plate
Group 1S To 8S and 1H To 8H

Pipe Clamp Assembly -

Standard Duty and Heavy Duty Series - Spares

HOW TO ORDER

[N

0D of Pipe in MM

Material 55304 5

cs No symbol

______

Designation of Clamp Body
Group 1S To8S and 1H To 8H

OD of Pipe in MM

Polypropylene
Polymide PP

Aluminum Al

Material

No symbol

INTERMEDIATE PLATE

Designation of Intermediate Plate
Group 1S To 8S and 1H To 8H

0D of Pipe in MM

Material 5908

cs No symbol
8

‘T"NUT

e

Designation of 'T" Nut

TOP PLATE
ERELELEY
1] | 1]
I |
Designation of Top Plate
Group 1S To 8Sand 1H To 8H
OD of Pipe in MM
Material S804 i
CHANNEL
g —
I Len]{ ¢ [-[¢]-]¢]
Designation of Channel
Group 1S To 8S and 1H To 8H
OD of Pipe in MM
Material i g
INTERMEDIATE BOLT
L] [{e]]e]

Designation of Intermediate Bolt
Group 1S To 8S and 1H To 8H

OD of Pipe in MM

. cs N bol
Material g

S8 304

EREENCEN

Group 1S To 8S and 1H To 8H

OD of Pipe in MM

cs

Material 55304

No symbol
S




Pipe Clamps - Shearing Forces / Material

triii )

TECHNOMECH INTERNATIONAL

SHEARING FORCES DIAGRAM

The design of Pipe Clamps, and the choice of Standard or Heavy Duty Pipe Clamps body material, vary according to the loading, the shearing forces and
the torque so as to provide for rigid installation. Shearing forces diagram for various tube sizes are given below for Standard and Heavy Duty Pipe Clamps
for polypropylene, polyamide and aluminum. These graphs may be used for guidance in selection of clamps.

STANDARD SERIES

WITH TOP PLATE AND HEX. BOLTS HEAVY SERIES

400 o~ 8000
d i a
- 7000 7
&, b o AlU LA e L :
g a0 - g 600 e , ' 30
S : & 5000 3
e P J 2] I J| == £
£ : 2 s A L 20 T
=, 200 ; ——— (2000 e il 4 —r — 2
E v al 1 — £ : ~ |® @
© = = T 3000 E 8
@ = @ g T E-
= = e~ PP o
o100 1000 @ 2000 e 10 P~
1y | AU =
+ 1000
PP ALU
5 10 15 20 25 30 35 40 20 40 B0 80 100 120 140 160 180 200 220 240

Tube diameter (mm) Tube diameter (mm)

MATERIAL

Pipe Clamps in bodies of polypropylene are suitable for temperatures upto 90 degrees C. For higher Temperatures and heavy ratings, Pipe Clamp bodies
are made with potyamide. Where temperatures are in excess of 180 degrees C., these bodies are made from aluminium. Properties of the clamp body
materials are given in the chart below :

Mechanical Properties

Tensile Yield Stress ~ ASTM D 638
Flexural Modules ASTM D 790
Izod Impact Strength  ASTM 0 256

Hardness

Thermal Properties
Melting Point

Vicat Softening Point
Maxm. Temp. Resistance

Chemical Properties
Weak Acids, Solvents
Benzene, mineral oils
Alcohol, Other oils, sea water

Suggested mfs Spec.

370 KgiCm?
16.000Kg/Cm?

7.5 Kg.cm./cm
R70

160°C
150°C
-30°C to +90°C

cond. consistent
cond. consistent
consistent

IPCL KOYLENE
M3030

750 Kg/Cm?

4.5 Kg.cm./cm
R120

160°C
150°C
-30°C to +90°C

cond. consistent
cond. consistent
consistent

GSFC GUJLCON
M28RC

3,300 Kg/Cm?

Yeild 3,100 Kg/Cm?

@ 12% Elongation

to 400°C

HINDALCO
6443 WP




_gmm
tl'l"ll : Pipe Clamps - Construction Series

TECHNOMECH INTEENATIONAL

TWO-PART WELD-CONSTRUCTION WITH POLYPROPYLENE OR POLYMIDE BEARING PADS

T )

N \

. =) " =N
B3 —=
B2
SC DSC
R = i L

; 81— ~— B3~
f = ! —— B2

SCA DSCA

(For anchor bolt fastening)
DIMENSIONAL CHART FOR SINGLE / DOUBLE PIPE CLAMP ASSY.

PpeO0 | 14 | 2 | s | w | W | W2 | W | W | Bt | B2 | B3 | Dz | flexagon o*&%%ﬁz
22010275 | 420 | 330 | 580 | 490 | 220 | 220 | 60 | 90 | 140 | 280 | 140 | 35 | M30xd20| 4
27610325 | 460 | 370 | 620 | 530 | 240 | 240 | 60 | 90 | 140 | 280 | 140 | 35 | M30xd460| 4
32610370 | 510 | 420 | 670 | 580 | 260 | 260 | 60 | 90 | 140 | 280 | 140 | 35 | M3ox500| 4
371t0425 | 570 | 480 | 750 | 640 | 200 | 290 | 60 | 90 | 140 | 280 | 140 | 35 | Mm30x560| 4
42610485 | 620 | 530 | 800 | 730 | 305 | 305 | 60 | % | 140 | 280 | 140 | 35 | M30x500 | 4
48610550 | 680 | 590 | 860 | 790 | 370 | 370 | 60 | 90 | 140 | 280 | 140 | 35 | M30x720| 5
55110630 | 760 | 670 | o940 | 870 | 410 | 410 | 60 | 9 | 140 | 280 | 140 | 35 | M30x800| 5
631to715 | 845 | 755 | 1025 | 955 | 452 | 452 | 60 | 90 | 140 | 280 | 140 | 35 | M0x884 | 5
71610800 | 940 | 850 | 1120 | 1050 | 495 | 495 [ 60 | o0 | 140 | 280 [ 10 | 35 | msoxor0| 5

HOW TO ORDER

qu *hE XXX XX DSQX *hE XX XK
—» Plastic pads Polypropylene - PP —» Plastic pads Polypropylene - PP
Plastic pads Polyamide - PA Plastic pads Polyamide - PA
Material — > Material
CS no surface - Cs nosurface -
finishing finishing
CS-Zn zincplated - CS-Zn zincplated -
> Pipe - OD ¢ D1 (please indicate exact ¢ D1) > Pipe- 0D ¢ D1 (please indicate exact () D1)
—» Type v —» Type v
Normal design - Normal design -
Anchor bolt design -V Anchor bolt design -V

10



TECHNOMECH INTERNATIONAL

] =
‘ tl'l"ll Round Steel “U” Bolt clamps (UB)
with Long Pipe Saddle - Type PSL

miin

I

PIPE Round Steel U-Bolt RB Pipe saddle, Type PSL
DN d1
Inch-NB | MM-0D a b d3 e | h h2 h, 11 B 81 S2 dz2
20 - 30 | 46 10 | 73513 75
374" 269 21185
30 20
25 38 48 | 81 30 80 | 30 | 12
i 7 50 | M10 A 11
32 . 48 56 | 89 |24 90
1.1/4" 42 .4 26.2 5
40 445 1 52 | 55 62 | 100 | -2/2 95
T2 | 483 29 |
57 335 35 | 15
50 > ze—{ 64 | 63 ” 7 | 18 [ 110 »
65 212" | 761 | 82 | 77 94 | 135 43 38 135
80 3 8890 | 94 | 82 106 | 152 | 54.5 145
100 198 | 420 136 | 190 -2 190
7 114 3 67 40 | 20 | 10
133 765
16 0
15— 1357 8| 105 | M6 | 10*| 2T g1 a7 | % 18
159 915
150 - wE| 176 192 | 247 | 250
175 193.7| 202 218 | 273 | 109 270
216 120 50 | 25 | 12
200 = Sieq| 228 248/ 81 [ g 315
267 1455
22
250 g S7| 282 | 125 | M20 | 302| 364 [zt 55 | 370
318 174
300 5 SeaE| 28 352| 418 (= 420
" : 193
350 i 2226 378 402 | 475 |5 480
16" 406 278 % =& | 15
26
400 5| 428 | 145 | M24| 452| 526 || 63 | 540
508 269
500 =57 580 554 | 627 oo 640

HOW TO ORDER
Round steel "U" Bolt Clamp, Type UB with 4 fixing nuts and polyamide plastic saddle PLS / PA, - Diameter d,=** mm
Example : 1 x UB ** / PSL-PA

11



tmi

TECHNOMECH INTEENATIONAL

Round Steel “U” Bolt clamps (UB)
with short Pipe Saddle - Type PSS

Pipe Round steel "U"-Bolt Pipe saddle, Type PSS
dy
N | @ b | dyf e h, hy, | hy | 14| 1, B | 8| S| S5 dy
175
20 -] 30 46 40 735
3/4" 26.9 185
30 - i | i 20 30 24 35 8 5 5 8
2 K 337 i . 22
38 24
56
& 1.4/4" 42.4 ki % 26.2 25
445 27.2
52 55 62 100
A 1172 483 29 %
57 335
50 63 76 118
2 60.3 % i 35.2 39 38 50 10 6 10
65 2.112" 76.1 82 77 94 135 43
80 3 88.9 94 82 106 152 525 41
108 62
120 136 190
10 4" 114.3 65 .
49 40 70 14 15
125 - 138 f 148 164 | 217 145
5 1397 105 | M16 78
5 1591 178 192 | o L3
6" 168.3 92 51
175 193.7 202 218 273 105 i | & " ; " "
216 116
311
X 219.1 & o 17.5 &
i 267 287 125 | M20 | 302 364 1415
273 144.5
318 167
332 352 418 62
3 3239 170 5
186
350 3;56556 378 402 475 7y
220 | 150 30 30
406 s | 15| M2 | s 526 211
400 419 275 | 10
508 262
0 1 | T

HOW TO ORDER
Round steel "U" Bolt Clamp, Type UB with 4 fixing nuts and polypropylen plastic saddle PSS / PP - Diameter d,= **mm

Example : 1 xUB **/PSS-PP

12




g _Jmm
tl'l"ll : Flat steel strip “U” Bolt clamps

with Polypropylene saddle - Type UF

TECHNOMECH INTEENATIONAL

: T e )| I N | /\

=
H

Pipe Flat steel "U" Bolt clamp, Type UF Pipe saddle, Type PSS U - Profile
d U-section
DN 1 Flat- d, e | hy h, |1, 1, B | s,] s, acc. to I,
Inch-NB | mMm-op | Steel DIN 1026
a0 | 112 483 76| o5 | 67 2 35 |8 100
57 85 | 103 | 715 5 50x 38
50 20x3 M 10 x 40 115
2 60.3 8s [106 | 732 |38 | & [ 50 |10
65 | 2112 76.1 104 | 122 | 81 132
80 | 3 88.9 122 | 146 | 975 160
00 108 140 | 185 | 107 170
4 1143 | 40x4 M 12 x 55 147 | 171 110 75 40 ] 70 14 180
133 165 | 190 | 1195
125 210
5 139.7 172 [ 197 | 123
159 201 | 220 | 1325 265
150
5 1683 o1 [ 230 | 137 80 x 45 275
175 1937 | 40x6 M 16 x 75 236 | 255 | 150 305
216 260 | 277 | 161 140 | 90 23
200 320
8 219.1 261 | 280 | 1625
267 325 | 328 | 1865 5 380
250 273 330 | 334 | 1895 385
0 31g | 40x8 Lt 375 | 384 | 212 440
12 3239 382 | 390 | 215 75 450
14 355.6 420 | 421 | 236 480
350 368 430 | 438 | 242 290
16 4064 470 | 472 | 261 -
400 419 | 60x8 M 24 x 100 482 | 485 | 2675 | 220 | 150 30 100 x 50
18 457 520 | 523 | 2865 585
20 508 570 | 574 | 312 630
500 521 585 | 587 | 319 640

HOW TO ORDER
Round steel "U" Bolt Clamp, Type UF with 4 fixing nuts and polyamid plastic saddle PSS / PA, - Diameter d,= ** mm
Example: 1 x UF ** /PSS-PA

13



tmi

TECHNOMECH INTERNATIONAL

Type UBR “U” Bolt clamps to DIN 3570 Section A

Pipe "“U" Bolt clamp, Type UBR
dq
DN a b dj e hy
Inch - NB MM - OD
20 3/4" 2?359 » S
” e 48 | 76
25 38
1 33.7 M 10
” 56 | 86
32 46
1.1/4" 42.4
a5 62 | 92
40 - 52
1.1/2 48.3 — .
57
50 - 64
2 60.3 M 12
65 2.1/2" 76.1 82 L
80 3" 88.9 94 106 138
108
100 120 136 | 171
4" 114.3
125 139 148 164 | 191
& 139.7
60 | M16
150 159 176 192 | 217
6" 168.3
175 i 202 218 | 249
1937
200 216 228 248 | 283
219.1
86 =87 282 302 | 334
273 M 20
200 318 332 352 | 385
323.9
355.6
350 378 70 402 | 435
368
406
400 428 M24 | 452 | 487
419
- 208 1 530 554 | 589
521

HOW TO ORDER

"U" Bolt Clamp, Type UBR to DIN 3570, Section "A" with 2 fixing nuts. - Diameter d,= ** mm
Example :

1x UBR **

14




Heavy Series Steel Strip Saddles

tmi

TECHNOMECH INTERENATIONAL

DIN 1592 & DIN 1593

DIN 1592 DIN 1593

— dyr _j'
I ! |
e lg— I
Diameter Diameter Strip
d, range d, h Iy I, Strip dy range d, h Ly 1, mm
d, mm d,
7 55 -7 6,6 5 22 14 162 7 55 -7 5 44 28 16x2
9 79 6 27 18 20x2 9 7-9 6 48 32
13 95-13 9 40 25 13 95-13 66 9 52 35
25%3 20x2
15,5 13-155 1 12 41 26 155 13-155 12 56 40
19 15,5-19 15 43 28 19 15,5-19 15 60 44
23 20-23 19 51 35 23 20-23 19 82 56
26 23-26 2 52 36 W0x5 2% 23-26 2 84 58 _—
28,5 26-285 14 24 53 37 285 26-285 2%
90 64
31 28,5- 31 a7 | 55 | 30 3 285-31 L 27
36 33-36 32 57 41 36 33-36 32 | 108 | @0
39 36-39 34 59 43 o 39 36-39 3 | 1o | e4 il
43 39-43 38 68 48 43 39-43 38 | 120 | s8
46 43- 46 4 70 50 46 43-46 41
122 | 90
49 46 - 49 18 44 73 53 49 46-49 " 44
52 49-52 47 76 56 58 53- 58 52
40x8 142 | 10
58 53 -58 52 78 58 61 58- 61 57
61 58 - 61 57 80 60 7 67 -71 6 | 152 | 120 | 40*3
Material ; Steel - Electro zinc plated finish 4 G = we ]|
Stainless Steel - natural finish 81 77-81 76 184 144
HOW TO ORDER 91 86 -91 ” 85 | 198 | 158
Example : DIN 1592 ** 103 99-103 % [ 214 | 174
*% Diameterd 109 105-109 104 | 220 | 1m0 | ‘08
15 110-115 100 | 226 | 186

Material : Steel - Electro zinc plated finish
Stainless Steel - natural finish

HOW TO ORDER
Example : DIN 1593 **
*% Diameter d

15



tmi

TECHNOMECH INTERNATIONAL

DIN 1592 & DIN 1593

Light Series Steel Strip Saddles

DIN 1593 DIN 1593
T TR i
{/ E 4N
ML) = o | S
ly
an 3
|
I l2
Diameter Strip Diameter Strip
d range da h Iy Iz iR dy range d, h 4 ly .
d a d a
7 55 -7 5 26 14 7 55 -7 5 44 28
162
9 7-9 6 28 16 9 79 6 48 2
13 95-13 &8 9 30 18 13 95-13 5 9 52 % | X719
15,5 13-155 12 32 20 20x2 15,5 13-155 12 56 40
19 155-19 15 kT 22 19 15,5-19 15 60 44
23 20-23 19 43 28 23 20-23 19 76 56
26 23-26 22 44 29 26 23-28 2 78 58
§ 25%3 -
285 26-285 24 285 26-285 ‘ 24
47 2 84 64 20x2
3 28,5-31 27 31 28,5-31 27
33 31-33 29 56 36 33 31-33 29 92 72
36 33-36 32 57 40 36 33-36 32 104 80
39 36-39 1 34 59 42 30x3 39 36-39 9 k! 108 84
43 39-43 38 81 44 43 39-43 38 12 88 25x3
46 43-48 41 62 45 46 43-48 41 114 "
49 46-49 44 87 48 49 46-49 44 118
40x 4
52 49-52 47 72 53 52 49-52 47 134 | 106
14 " 30x3
58 53-58 52 74 55 58 53-58 52
138 | 10
81 58-81 56 77 58 61 58 - 61 56

Material : Steel - Electro zinc plated finish
Stainless Steel - natural finish

HOW TO ORDER
Example : DIN 1596 **
*% Diameterd

Note: For clamping of multiple number of tubes

Example : DIN 1597 #*
*% Diameterd ,

Material : Steel - Electro zinc plated finish
Stainless Steel - natural finish

add the number of tubes as prefix to the past number.

16




Pressed Metal Clamps to DIN standard 3567 - Type A

tmi

TECHNOMECH INTERNATIONAL

e A\
= Ay j_
".‘_\ d\ ’—1 —*—
(57 XL
'.’_; 7 l {:J :
Bore diameters .
d, a c d, f Strip Accessories : Hexagon
MM - OD Inch - NB mm headed bolts

20 5 57
22 59
25 62

20
27 3/4 66
30 i 68 15 11,5 7 30x5 M10x 30
34 1 72
38 76

32
43 1% 82
45 84

40
49 1% 88
57 - 104
61 2 108 18 14 9 40x8 M 12 x 35
77 65 2% 122
89 80 3 136
108 172

100
115 4 178
133 196

125
140 204
159 299 24 18 11 50x8 M 16 x 45

150
169 232
194 175 258
216 280

200
220 284
267 342

250
273 348
318 392 30 23 14 60x8 M 20 x 50

300
324 398
368 350 444
407 498

400
419 510 36 27 18 70x 10 M 24 x 80
521 500 614

Material : Steel - Electro zinc plated finish
Stainless Steel - natural finish

17

HOW TO ORDER

Example : DIN 3567 A **
*% Diameterd



Pressed Metal Clamps to DIN standard 3567 - Type B

tmhi

TECHNOMECH INTERNATIONAL

B dimiets Strip Accessories : Hexagon
1 es :
o1 MM - 0D Inch - NB 2 b ¢ dig f mm headed bolts
20 = 57
22 59
25 62
20
27 3/4 66
30 o 68 46 15 15 7 30x5 M10x30
34 1 72
38 76
32
43 1V 82
45 84
40
49 1% 88
57 50 104
61 2 108 54 18 14 9 40x6 M12x35
77 85 2% 122
89 80 3 136
108 172
100
115 4 178
133 196
125
140 204
159 299 70 24 18 11 50%8 M 16 x45
150
169 232
194 175 258
216 280
200
220 284
267 342
250
273 348
318 392 86 30 23 14 60x8 M 20 x 50
300
324 398
368 350 444
407 498
400
419 510 104 36 27 18 70%10 M 24 x 60
521 500 614
Material : Steel - Electro zinc plated finish HOW TO ORDER
Stainless Steel - natural finish Example : DIN 3567 B **

**% Diameterd ,

18



TECHNOMECH INTERNATIONAL

The use of weld nipple and ferrule type fittings is widespread in Hydraulics,Pneumatics
and lubrication System for tube sizes upto 38mm OD and various thickness depending
upon the pressure involved. For bigger sizes, ferrule and weld nipple type fitting are
impracti cable because of their heavy hexagonal sections which increase the pitch
between pipes spreading the pipe installation over a large area. Also such fittings
require very high torques for tightening which lead to loose joints.

In such a cases the use of flanges with Butt Weld or socked Weld ends has been found to
be more practical leading to compact piping installations.

CETOP PR 63H, AFNOR 48-0-54 and ISO 6164 specify flanges with Butt Weld ends
and square clamping flanges for 250 bar and 400 bar static working pressure
respectively. these correspond to 160 bar and 315 bar dynamic working pressures.
the flange system consist of a sleeve to be butt or socket welded to the pipe and
clamped together between two square flanges by a set of four hex bolts, nuts and spring
washers. One of the sleeves carriesan “O” ring groove fitted with an “O” ring for sealing
the interface.

The use of these ISO 6164 flanges has one disadvantage.The size of the square flange
require a higher pitch between pipes due to the flang sizes. In order to reduce the
distance between pipes SAE introduced their own standards which are now
incorpoated into ISO 6162 for the 3000 psi and 6000 psi static pressure ranges
respectively. SAE System depends on the same set of Butt Welding seleeves held
together by a set of split flangeand solid flange and solid flange secured by hex bolts and nut.

The design for the SAE system calls for forged flages to ASTM A 105 With sleeves
made from weldable material. In order to reduce costs, various manufacturers have
introduced a two piece system shown on pages 24 & 26 where the sleeve and the flange
were combined into one piece. Such a system is easily adaptable to both Butt Weld and
Socket Weld systems. However. in practice the two piece system is used mainly for
Socket Weld flanges for cost considerations.

With the introduction of more corrosive fluids in piping systems, the total joint is not
required to be of non-corrosive material, eg. SS. Only the sleeves which are wetted by
the fluid are required to be of SS.this makes for an economical joint.

Further, the orientation of these flange joints can be so done to minimize the distance
between pipes and provid for a compact installation.

19



— ) Flange Assembly with Butt Weld End Connections
t SAE 3000# and 6000# Series

TECHNOMECH INTERNATIONAL

AFU AFH
PART MATERIAL QTy FINISH : Welding Sleeves and fasteners have
Phosphatized finish, Flanges are zinc plated.
1) SLEEVE WITH GROOVE 1S. 2062 1
TEST PRESSURE :
gg EIL_EE\C/;IIEE WITHEUT RROSNE E’1 ggsz 1 SERIES 3000 PSI (Code 61) = 210 bar : 3000 PSI
4) SPLIT FLANGE (SET OF 2) A 105 1 1 HYDROSTATIC @ ROOM TEMPERATURE.
gg gpsmg WASHER :\gT?cilég s 1 1 SERIES 6000 PSI (Code 62) = 410 bar : 6000 PSI
7) HEX. BOLT IS. 1364 1983 4 4 HYDROSTATIC @ ROOM TEMPERATURE.
8) HEX. NUT IS. 1364 1983 4 -

NOTE : Unless otherwise ordered,
standard supply will have metric threads

AFH - | -
(HALF FLANGE)

AFU L
(UNICN FLANGE)

FLANGE ASSEMBLY WITH SOCKET WELD END CONNECTIONS

FLANGE SET

SOLID FLANGE

SW SLEEVE — b S —

£

UNION FLANGE ASSEMBLY see note afong side page no. 21 HALF FLANGE ASSEMBLY

20



Flange Assembly with Butt Weld End Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERNATIONAL

DIMENSIONS : SAE 3000 PSI (Code 61) = 210 bar

HEX.HD.CAP
DN PIPE SIZE 'O'RING | SCREW SIZE
dd | dd1| ¢d2 | 1 [L|h | n1|B]|B1 T |A SIZE T
INCH| MM oD x WT —
20.0 x 3.0 20 | 140
M8 x 25/
22.0 x 2.0 22 | 180
516" 18UNC x 1
o5t | 4 213x26 22 | 160 | 302 | 30 |60 | 13| 19 | 54 |46 | 38.1]|17.5|18.64 x 3.53
M8 x 40/
516" 18UNC x 1%
22x2.0 22 | 180
25.0x 3.0 25 | 19.0 M10 x 30/
308" 16UNC x 114
— 26:3% 88 27 1195 | 381 | 35 |70 |14 22 | 65 |52 [ 47.6|22.3|24.99x 3.53 |-
M10 x 40/
318" 16UNC x 11
30.0 x 4.0 30 | 220
M0 x 30/
35.0 x 4.0 35 | 270 ‘
318"_1BUNC x 11
o | as 337 x32 34 | 270
P 6 330 %445 | 40 |80 (16|24 [ 70 |59 |52.4|262|3292x353
M10 x 45/
38.0 x 4.0 38 | 300 38 TG RE
38.0 x 4.0 38 [ 300
42.0x 3.0 42 | 360 M 1
. r—— 23 | 360 | 50.8 | 45 90| 16| 22 | 80 |73 | 58.7|30.2|37.69 x 3.53 |16 _14UNCx 1%
17" 32
424 %56 43 | 312 —_—
16" 14UNC x 2
38.0 x 4.0 38 | 300
Mi12 x 35/
42.0x 3.0 42 | 360 .
112" 13UNC x 11
" 483x 45 49 | 390
1% | 38 60.3 | 50 [100| 16| 25 | 94 |83 | 69.9|35.7 |47.22x 3.53
48.3%6.3 49 | 355
M12 % 50/
112°_13UNCx 2
42,0 3.0 42 | 360
423x32 43 | 36.0 M12 x 35/
48.3% 3.2 49 | 420 112"_13UNCx 1%
2 | 51 807 298 1 1990 | 744 | 60 |120| 16| 26 |102 |97 | 77.8[42.9|56.74 x 3.53
60.3 x 8.0 61 | 440
M12 x 50/
112 13UNC x 2

NOTE: SO : 6162 does not have a separate series for flange assembly with socket weld end connections. The entire assembly remains the same as butt
weld end connections shown above. However, the sleeves are welded with adaptors to convert the butt weld to socket weld end connections and
dimensions can be given on request.

The use of the ISO : 6162 system increases the overall length of the flange assembly which may not be acceptable in the piping design. For socket weld
end connections, designers usually prefer the two-piece system based on SO : 6162 dimensions shown on pages 25-27 of the catalog.

21



Flange Assembly with Butt Weld End Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERENATIONAL

DIMENSIONS : SAE 3000 PSI (Code 61) = 210 bar

HEX.HD.CAP
DN PIPE SIZE 'O'RING | SCREW SIZE
od | ¢d1 | ¢d2| 1| L|n|n1|B|BI| T | A SIZE AFH
INCH| MM oD x WT AFU
76.1x7.1 77 | 62,0 —
76.1x3.6 77 | 69.0 " 1UNGx 1%
82.5x7.1 86 | 68.0
x[21/2'] 65 84.1 | 70 |140| 19| 38 | 115 109 | 88.9 | 50.8 | 69.44x353
80.0 x 2.0 80 | 76.0
M12 x 60
%'_13UNC x 2%
60.3x 3.6 61 | 53.0
M16 x 50/
76.1x3.6 77 | 69.0
5/8"_1UNCx 1%
76.1x7.1 77 | 62,0
wx| 3| 76 101.6| 80 |160[ 22| 41 | 136| 131 | 106.4 | 61.9 | 85.32x353
88.9x3.6 9 | 815
M16 x 70/
5/8"_11UNC x 2%
76.1x3.6 77 | 89.0
M6 x 50/
88.9x 3.6 90 | 815 ‘ ‘
58" 1MUNC x2'
114.3 x 3.6 115 | 107.0
wrx 312 | 89 114.3 | 95 [190| 22| 28 | 153| 140 [ 120.7 | 69.9 | 98.02x3.53
M16 x 70/
5/8" 1UNC x 2%
76.1x3.6 77 | 69.0
M16 x 50/
88.9x 3.6 9 | 815
5/8"_1MUNC x2'
_ 114.3 x 3.6 115 | 107.0
wxx | 47 | 102 127.0| 110|220{ 25| 35 | 163| 152 | 130.2| 77.8 | 110.72x3.53
M16 x 80/
518" 1UNC X3
139.7 x 4.0 140 | 1315 M16 x 55/
127.0 x 4.0 127 | 119.0 58" HIUNCx 2%
wax| 5" | 127 152.4 | 120(220{ 28| 41 | 183| 181 | 152.4 | 92.1 | 136.12x 3,53
M16 x 80/
518" 1MUNC X3

NOTES :* PN 170 bar
** PN 140 bar
**% PN 35 bar

22



Flange Assembly with Butt Weld End Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERENATIONAL

DIMENSIONS : SAE 6000 PSI (Code 61) = 410 bar

DN PIPE SIZE '0' RING 2535”\35(32
od | dd1| ¢d2] 1L [ [p1]| B [B1 | T |A SIZE AFT
INCH|MM oD x WT AFU
16.0x 2.5 16 11.0 MSXBW
20.0x 3.0 20 | 14.0 ;
5/16" 18UNC x 1"
21.3x45 21 | 120
12" |13 318| 40|80 |16 [22| 56 | 48 |[405 |[182 | 18.64x3.53
M8 x 45/
5/16" 18UNC x 1%
20.0 x 3. 20 | 140
X80 M10 x 35/
25.0x 4.0 25 | 17.0 )
3/8" 16UNC x 1"z
26.9x5.6 27 | 155
34" | 19 413| 45|90 (19 [28 | 71 | 60 |[508 |23.8 | 24.99x3.53
M10 x 50/
/8" 16UNC x 2°
25.0x4.0 25 17.0 M12 x 45/
30.0x4.0 30 | 220 : :
L 716" 14UNC x 13
i | 33.7x7.1 34 | 195
3 476| 50| 100 24 (33| 81 70 | 572 |27.8 | 3292x353
38.0x4.0 38 | 30.0 M12 x 65/
716" 14UNC x 2"
30.0x4.0 30 22.0 M12 x 45/
38.0 x 5. 38 | 280 ‘
2 % 13UNC x 1%
42488 43 | 245
11/4"| 32 540| 55| 110 | 27 (38| 95 | 78 |e666 |31.8 | 37.69x3.53
M12 x 70/
¥ 13UNC x 2%
38.0x 5.0 38 28.0 M16 x 55/
483 x%6.3 49 | 355 . ;
p . 5/8"_11UNC x 2"
114 | 38 e 8 13201 s35]| 60120 [30 (a3 | 113 | o5 |703 |365 |4722x353
48388 49 | 305 M16 % 80/
60.3 x 10.0 61 | 40.0 58" 11UNC x 3%
60.3 x 10.0 61 | 40.0 M20 x 70/
60.3x12.5 61 | 35.0 ) .
76.1% 12.5 77 | 510 i i
2" |51 il — 794 | 70|140 | 37 |52 | 133 | 114 | 968 |445 | 56.74x3.53
60.3x 8.0 61 | 44.0 M20 x 100/
3/4" 10UNC x 4"
76.1 x 7.1 77 | 62,0
M24 %3
76.1x 10.0 77 | 56.0
* | |ea 76.1x12.0 77 | 520 [105.0] 75|150 | 39 |56 | 175 | 149 |123.8 |58.7 | 69.44x3.53
M24 x 5"
88.9x7.6 90 | 735
88.9x 11.0 90 | 67.0 (RS
* 88.0x 14.2 90 | so5 | 130.0] 80 |160 [ 42 [e1 | 217 [178 |1524 |71.4 | 85.32x3.53
3 |76
M30 x5 1
* PN 315 bar

23



Flange Assembly with Butt Weld End Connections

=1l ]
‘ tml ) SAE 3000# and 6000# Series
(Two Piece System)

TECHNOMECH INTERENATIONAL

ABU ABH
PART MATERIAL QTy
1) FLANGE WITH GROOVE IS. 2062 1 1
2) FLANGE WITHOUT GROOVE IS. 2062 1 -
3) "O" RING NITRILE RUBBER 1 1
4) SPRING WASHER IS. 3063 4 4
5) SOC. HD. CAP SCREW IS. 1367 - CLASS 12-9 4 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : SERIES 3000 PSI = 210 bar : 3000 PSI HYDROSTATIC @ ROOM TEMPERATURE.
SERIES 3000 PSI = 410 bar : 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

i
-
i
!
!
||
1)
A . |-
ABH
HALF FLANGE ASSEMBLY
i
!
ABU
UNION FLANGE ASSEMBLY

24



Flange Assembly with Butt Weld End Connections

TECHNOMECH INTERNATIONAL

g =1l ]
‘ tl'nl SAE 3000# and 6000# Series
(Two Piece System)

DIMENSIONS : SAE 3000 # SERIES

PIPE SIZE SCHEDULE A B c c1 D E ¢ E H 4) K '0'RING SOC . HD. CAP
INCHES SIZE SCREW SIZE

P 80 135

! — 38 | 54 64 | 32 |31 | 175 o] 1 |24 18.64 %353 4/M8x40
80 19.0

34 — 45 | 67 B4 | 32 478 | 22 [ 10 | 285 24.99 % 353 4/M10x40
80 23.9

1 e 51 72 B4 | 32 |524 | 262 [ 10 | 350 32.92 %353 4/M 1040
80 318

1% 160 64 | 81 B4 | 32 |57 302 [ 10 |45 37.69 % 3.53 4/M10x40
80 38.0

1% P 70 | 9 76 | 38 |69s | 37 [0 13 | 508 47.22%353 4/ M12x45
80 493

2 i 83 | 102 | 76 [ 38 |778 | 429 [ 13 | 635 56.74 X 3.53 4iM12x45
80 59.0

* 2% 180 102 | 14 90 45 (889 [ 508 =g | 13 | 762 69.44 x 3,53 4/M12x50
80 73.7

¥ 3 s 14 | 135 | 102 | 51 |1084| 819 [—| 13 | 889 85.32 % 3.53 4/M16x860
" 80 85.4

il 37 = 127 [ 152 | 76 | 38 [1206| 699 [ [ 13 [1016 98,02 x 353 4/M16x50
80 973

A % 180 140 | 162 | 76 8 [1302f 778 [ 5| 13 | 1143 110.72x 353 4/M16x50
e 80 122.2

5 150 178 | 184 | 102 | 51 |1524| 921 [Tge5| 13 | 1428 136.12x 353 4/M16x860

NOTES :* PN 170 bar
*x PN 140 bar
*%%x PN 35 bar

DIMENSIONS : SAE 6000 # SERIES

12 = 45 | 56 | 64 32 | 405 | 182 = 10 | 224 18,64 x 3.53 4/M8x40
160 120
80 19.0
34 = s1 | 71 | 64 2 | 08| 288 [——] 10 |85 24.99 x3.53 41M10x40
80 239
1 = 57| 81 | 4 R | 52| 278 [ 10 | 30 3292%353 4IM12x45
1% > 70 | o5 | &4 32 | 667 | 318 s 10 | 445 37.60x 3.53 41M12x50
160 295 :
1% B 83 | 14 | 76 38 | 794 | 365 o 13 | 508 4722353 41M16x50
160 ' 21 340 Lex.
80 493
2 % 02 | 134 | s | 45 [ 968 [ 445 [ 18 | 635 56.74 ¥ 3.53 41M20x60
* 2% = 127 | 175 | 102 | 51 | 1238 58.7 =2 13 | 782 69.44 x3.53 41M 2270
160 ' | 538 G !
" 80 737
3 — 152 | 216 | 127 | e3s [ 1524 714 [o] 18 | 889 85.32 X 3.53 4/M 27 x100

NOTES : * PN 315 BAR

25



Flange Assembly with Butt Weld End Connections
SAE 3000# and 6000# Series

(Two Piece System)

TECHNOMECH INTERNATIONAL

ASU ASH
PART MATERIAL QTY
1) FLANGE WITH GROOVE IS. 2062 1 1
2) FLANGE WITHOUT GROOVE IS. 2062 1 -
3) "O" RING NITRILE RUBBER 1 1
4) SPRING WASHER IS. 3063 4 4
5) SOC. HD. CAP SCREW IS. 1367 - CLASS 12-9 4 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : SERIES 3000 PSI = 210 bar : 3000 PSI HYDROSTATIC @ ROOM TEMPERATURE.
SERIES 3000 PSI = 410 bar : 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

(&3]

BN
=l 9 S

ASH
HALF FLANGE ASSEMBLY
54 1 5 2
‘ I ! A |
‘t/ &5 i =
i a .
' ‘ i
T “i I \€
| ‘ 1
L — % P
oL
ASU

UNION FLANGE ASSEMBLY

26



Flange Assembly with Butt Weld End Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERNATIONAL

(Two Piece System)

DIMENSIONS : SAE 3000 # SERIES

PIPE SIZE 'O'RING  |SOC . HD. CAP
INCHES | A B c |c D E |OF [ H |oK SIZE SCREW SIZE

12 38 54 38 19 3_1 | 178 13 10 22 18.64 x 3.53 4/M8x35

34 45 67 51 255 476 | 222 19 13 27 24.99x3.53 4/M10x45

51 72 51 255 524 | 26.2 25 13 35 32.92 x3.53 4/M10x40

1% 64 81 51 255 58.7 | 302 32 13 43 37.69 x3.53 4/M12x45

1% 70 95 76 32 69.8 | 357 38 13 49 4722 x3.53 4/M12 x50

2 83 102 | 76 38 778 | 429 |49 16 61 56.74 x 3.53 4/M12 %60

* 2% 102 | 114 | 90 45 889 | 50.8 | 61 19 74 69.44 x 3,53 4/M12x65
s 3 114 135 102 51 106.4 | 619 75 19 90 85.32 x3.53 4/M16x75
Kk 3% 127 152 76 38 1206 | 69.9 86 19 102 98.02 x 3.53 4/M16x65
ok 4 140 ) 162 | 76 | 38 1302 | 778 | % 19 1115 [110.72x3.58 | 4/M16x85
ekt 5 178 184 102 51 1524 | 921 122 19 142 136.12 x 3.53 4/M16x75

NOTES :* PN 170 bar
x% PN 140 bar
*%* PN 35 bar

DIMENSIONS : SAE 6000 # SERIES

12 45 56 51 255 40.5 | 182 13 13 22 18.64 x 3.53 4/M8x40

3/4 51 71 51 | 255 508 | 238 | 19 13 27 24.99 x 353 4/M10x45

1 57 81 51 255 572 | 278 25 13 34 32,92 x3.53 4/M12x45

1% 70 95 64 32 66.7 | 31.8 32 13 43 37.69 x 3.53 4/M14x55

1% 83 114 76 38 794 | 36.7 38 13 49 47.22 x 3.53 4/M16 x 65

2 102 134 90 45 96.8 | 44.5 49 16 61 56.74 x 3.53 4/M20x 75

* 2% 127 | 175 102 51 1238 | 587 | 61 16 74 69.44 x 3.53 4/M24x90

* 3 152 216 127 | 635 1524 | 714 75 16 90 8532 x 3.53 4/M30 x110

NOTES: * PN 315 bar

27



Butt Weld End Elbow Flange Connections

‘ tmi ) SAE 3000# and 6000# Series

TECHNOMECH INTERNATIONAL

AEBO AEB
PART MATERIAL QTyY
1) ELBOW FLANGE WITH "O" RING IS. 2062 1 -
2) ELBOW FLANGE WITHOUT "O" RING IS. 2062 - 1
3) "O" RING NITRILE RUBBER 1 1
4) SPRING WASHER IS. 3063 4 4
5) SOC. HD. CAP SCREW IS. 1367 - CLASS 12-9 4 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : SERIES 3000 PSI = 210 bar : 3000 PSI HYDROSTATIC @ ROOM TEMPERATURE.
SERIES 3000 PSI = 410 bar : 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

1
" =
T
T |9 P/
{ |
v o -
] @) o =]
El \ .
! -t [ [
- D (5) (4)
B =l
AEBO
ELBOW FLANGE WITH "O" RING
— gK -
1 = 2
_.I_ i /‘ 1 L _l_
<T
o _ | By
LT, Q) o —
' R

-~ D —= 5 4. ¢~

AEB
ELBOW FLANGE WITHOUT "O" RING

28



Butt Weld End Elbow Flange Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERNATIONAL

DIMENSIONS : SAE 3000 # SERIES

PIPE SIZE SCHEDULE | A B C D E Fl 6 H K '0'RING SOC . HD. CAP
INCHES ¢ ¢ SIZE SCREW SIZE T
- 80 135
L 51 54 38 | 381 175 19 10 | 224 18.64 x 3.53 4/M8x50 M8
180 "
80 190
3/4 57 67 45 478 | 222 22 10 | 285 2499 %353 4/M10x85 M10
160 15.5
’ 80 243
|
0 64 72 51 524 | 262 [ 2 10 | 350 32.92x 353 4/M10x 70 M10
80 325
;
1% 0 76 81 57 | 587 | 302 [ %2 10 | 445 37.69x 353 4/M12x75 M12
80 38.0
1% 83 95 76 | 698 | 357 35 13 | 508 47.22x353 4/M 14 %100 M14
160 340
80 493
|
2 & 9 | 102 [ 89 | 778 | 428 [ 41 13 | 635 56.74 x 3.53 4/M14x115 M14
80 59.0
# 2% 50 M4 | 114 | 102 [ 889 | 508 [0 5 13 | 762 69.44 x 3.53 4/M14x125 M14
80 73.7
i 3 180 127 | 135 | 127 | 1064 | €19 e | 57 13 | 889 85.32x 353 4/M 16 % 150 M16
_— 3 80 85.4
. 60 10 | 152 | 140 | 1208 | 698 [ 63 13 | 1016 | 98.02x353 4/M 16 x 165 M16
80 97.3
Rx 4 160 152 | 162 | 152 | 1302 778 [g7, | TO 13 | 1143 | 110.72x3.53 4/M16x 180 M16
NOTES :* PN 170 bar
**% PN 140 bar
*%*x PN 35 bar
DIMENSIONS : SAE 6000 # SERIES
in 80 135
0 57 56 38 | 405 [ 182 o= 2 10 224 | 1864x353 4/M8x50 M8
80 19.0
34 84 72 45 508 | 238 25 10 285 24.99 % 3.53 4/M10 %65 M10
160 15,5
1 80 243 "
A ; : X ; 12
50 70 81 51 572 | 278 s | 2 10 350 | 3202x353 41M12x70
1% = 5 | M M14
4 !
= 83 95 57 | 667 | 31 s ¥ 10 445 | 3769x353 41M14x80
" 80 38.0
2 %0 95 | 114 7 | 794 | 365 [ 4 13 508 | 4722x353 4/M16x 100 M16
5 80 493
50 15 [ 133 | 89 | 968 | 445 [ 51 13 635 | 56.74x353 4/M20%115 M20
80 59.0
* 2% 0 1o | 174 [ 102 | 1238 8.7 [0 64 13 762 | 6944x353 4124 x 140 M24
80 73.7
L 3 760 127 | 216 | 127 | 1524 [ 714 [ 76 13 889 | 85.32x353 4/M30x 175 M30

NOTES: * PN 315 bar

29



Socket Weld End Elbow Flange Connections

‘ tmi ’ SAE 3000# and 6000# Series

TECHNOMECH INTERNATIONAL

AESO AES
PART MATERIAL QTty
1) ELBOW FLANGE WITH "O" RING IS. 2062 1 -
2) ELBOW FLANGE WITHOUT "O" RING IS. 2062 - 1
3) "O" RING NITRILE RUBBER 1 1
4) SPRING WASHER IS. 3063 4 4
5) SOC. HD. CAP SCREW IS. 1367 - CLASS 12-9 4 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : SERIES 3000 PSI = 210 bar : 3000 PSI HYDROSTATIC @ ROOM TEMPERATURE.
SERIES 3000 PSI = 410 bar : 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

- gk -
- oF
1 , | ~1)
o M P
\4,; iI\f J N B T
<L =
Lol . i _@
J L HFe ) o % —n
IR ]
I
— D -— [ 5 ) 4\| C
& B -

AESO

~ H =
-
1y
|

AES
ELBOW FLANGE WITHOUT "0" RING

30




Socket Weld End Elbow Flange Connections
SAE 3000# and 6000# Series

tmi

TECHNOMECH INTERNATIONAL

DIMENSIONS : SAE 3000 # SERIES

PIPE SIZE 'O'RING | SOC.HD.CAP | T
INCHES | A B c D E | 0F | G H | 0K SIZE SCREW SIZE

112 45 54 38 884 | 175 13 19 10 22 18.64 x 3.53 4 /M8 x50 M8

51 67 45 476 | 222 19 23 13 27 2499 x 3.53 4/M10x65 M10

57 72 51 524 | 262 25 25 13 34 32.92 x 3.53 4/M10x70 M10

1% 70 81 57 58.7 | 302 32 32 13 43 37.69x3.53 4/M12x75 M12

1% 76 95 76 698 | 357 38 35 13 49 47.22x3.53 4/M14 x100 M14

2 89 102 89 778 | 429 | 49 41 16 61 56.74 x 3.53 4IM14x115 | M4

* 2% 102 | 114 | 102 | 889 | 508 | 61 51 19 | 74 69.44x353 | 4/M14x125 | MI4
ke 3 127 | 135 | 127 | 1064 | 619 | 75 57 19 | 9% 85.32x353 | 4/M16x150 | M16
Kk 3% 140 | 152 140 | 1206 | 699 86 64 19 103 98.02 x 3.53 4/M16x165 | M16
Kk 4 152 | 162 152 | 1302 | 778 | 98 70 19 115 | 110.72x 353 4/M16x180 | M16

NOTES :* PN 170 bar
** PN 140 bar
*%% PN 35 bar

DIMENSIONS : SAE 6000 # SERIES

T
112 51 | 56 8 | 405 | 182 | 13 23 13 22 | 1864x3.53 4/M8x50 M8

3/4 57 | ™ 45 | 508 | 238 | 19 25 13 27 | 2499x353 4/M10x65 | M10

1 64 | 81 51 | 572 | 278 | 25 28 13 34 | 3292x353 4/M12x70 | M12

1% 7 | 95 57 | e67 | 317 | 32 35 13 43 | 37.69x3.53 4/M14x80 | M14

1% 89 | 115 | 76 | 794 | 365 | 38 # 13 49 | 4722x353 | 4/M16x100 | M16

2 102 [ 133 | 89 | 968 | 445 | 49 51 16 61 56.74x353 [ 4/M20x115 [ M20

* 2% 140 | 175 | 102 | 1238 587 | 61 64 16 74 69.44x353 | 4/M24x140 | M24

- 3 152 | 216 | 127 | 1524 | 714 | 75 76 16 90 8532x353 | 4/M30 x175 [ M30

*PN 315 bar

31



triii )

TECHNOMECH INTERNATIONAL

PART

1) FLANGE

) SLEEVE WITH GROOVE
3) SLEEVE WITHOUT GROOVE
4) 'O'RING

5) HEXBOLT

6) HEXNUT

7) SPRING WASHER

MATERIAL

C. S.1S. 2062
C. S.1S. 2062
C.S.1S. 2062
NITRILE
IS. 1363
IS. 1363
IS. 3063

Flange Assembly with Butt Weld End Connections
PN 160, PN 250 $ PN 315

FH FU
QTyY

1 2

1 1

- 1

1 1
4or8 40r8
- 4or8
4or8 4o0r8

FINISH : ALL CS PARTS ARE PHOSPHATIZED.

TEST PRESSURE : FH SERIES & FU SERIES : PN 160 bar : 2400 PS| HYDROSTATIC @ ROOM TEMPERATURE
PN 250 bar : 3750 PS| HYDROSTATIC @ ROOM TEMPERATURE

PN 315 bar : 4500 PSI HYDROSTATIC @ ROOM TEMPERATURE

2 ? ? 1 1‘1 2 5 6 3
‘.‘.“ l‘\ N -‘"“l l.\"‘ ‘_ i ‘
' IR ! \ -
g s s v mll B
* _E Al /‘ - ?7'_ /
s 3 s s 3
i % S P 1 |
TR = [
- - e el =y~
L L1
FH FU
HALF FLANGE ASSEMBLY UNION FLANGE ASSEMBLY

VERSION OF THE FORM OF WELDING SEAM
ACCORDING TO DIN 2559 ( DETAILS 'C")

S Tf‘"' &
T D - s

At 1
= }// lﬂ ‘L
- | i
| . I
WALL THICKENSS UPTO 12 mm FROM 12 mm UPTO 16 mm ABOVE 16 mm
T P (X)) 1 g
/ J <=3 A 4
7 f < |
/ / Y A\ \
| \ N = i
“‘- AN LI'\' i 5
% _,-‘I,'/,’- ‘ \‘ et { -“)
e ), T N i o
), - B ~

ROUND FLANGE FOR SIZES ABOVE DN 150 SQUARE FLANGE FOR SIZES UPTO DN 150

32



Flange Assembly with Butt Weld End Connections
PN 160, PN 250 & PN 315

tmi

TECHNOMECH INTERNATIONAL

DIMENSIONS : FH SERIES & FU SERIES - PN 160

HEX. BOLT
DN PIPE SIZE d| od1|ed2| L | v1]eo| h | T G RG
v | @al] e SIZE | FH SERIES
INCH | MM 0D x WT FU SERIES
16 % 12 — 16 | 12 -
2 | 15 |ATIx32(B'SCHEO) | 17 | 1051 o5 45 | g | s0 | 19 | 44 |i7a2x262
4/ M0 %55
20%25 2 | 15
- - 4/M10 35
g4 | g0 | RI3XSTI(Z'SCHBO) | 22 | 135| 55) 55 | g4 | 6o | 19 | &4  |2507x262
253 %5 | 19 —
26.9x391 (34SCH80) | 27 | 19 i
30 x4 0 | 2 —
" X
1| 2 334x455(I'SCHBON 35 | 24 | 45| 56 | 106 70 | 19 | &4 |2082x262
4/M12x 60
483x50(112ScH80) | 49 | 3ss 42 40
1 | s5 | 64 | 122] 80 | 22 | 72 |3ss9x262
41270
:gfsx 508 (11/2°SCH 80) :g 3225 V1650
| g g0 | e8 | 130 90 | 20 | s |4722x353
4221485 43 | 325
4/ M16 x 80
80.3 % 5.54 (2'SCH 80 52 | 49 P—_
X
2 | 50 el 2 L 54 76| a0 | 1saf 10| 3 [ e [sas7xsan
4/M16 x 100
730%7.01 212'SCHB0) | 73 | 59 —_
X
761 %71 76 | 62
- = 92| 9 | 190 120 | 47 | 18 |6044x533
4/M20 % 120
88.97.62 (3' SCH 80) 90 | 735
4/M30x 90
135| 125 | 262 | 180 | s0 | 175 [1003x523
3 80 [ 101610 102 | 815
4/ M30 x 150
. 15 | o2
1143 ¢ 11.13 (4"SCH 120) 4 505D
. - 135 135 | 262 | 180 | s0 | 475 |10754x533
4/ M30 x 150
1413127 (S'SCH120( | 142 | 118
8/M24 x 100
168 | 150 | 292 | 245 | 69 | 200  [13271x6.98
5 | 125 [1524x16 153 | 1205
8IM24 x 170
168.3 x 14.27 (6'SCH 120) | 169 | 139.5
BxM30 x 110
205| 150 | ar2| 200 | 79 | 245  |1s8.11x6.99
6 | 150 [1778x1rs 179 | 143
8xM30 x 200

33



Flange Assembly with Butt Weld End Connections
PN 160, PN 250 & PN 315

tmhi

TECHNOMECH INTERNATIONAL

DIMENSIONS : FH SERIES & FU SERIES - PN 250

HEX. BOLT
DN PIPE SIZE d | ¢dt]ed2| L | L1l em| n T Rl
AL L SIZE FH SERIES
INCH| MM oD x WT FU SERIES
16426 16 | 12 J—
yg | 10 |TAx32(387SCHB0) 117 | 105) o5 | 43 | eo | s0 | 19 | 4 |1712x262
4/ M10x55
ET K o
e | 1 EEEE 38 | 50 | o | 60 | 19 | 54 |[2507x262
213373 (1/2'SCH80) | 22 | 135
4/M10x55
269 %36 27 | 195 s
" X
ya | g |2B9X3NCMASCHE) 127 1 19 | 4o | 56 | 06| 70 | 19 | 64 | 2082x262
4/ M12 X 60
334 x4.5 (1'SCH 80) u | 25 —
1| 2 55 | 64 | 12| 80 | 24 | 72 | 3esox2e2
4/M12x 70
422x56 _ 43 | 3 —
o | 5 [22cessvesonien Tas T o0s] o | 65 | 30| o0 | 20 | a0 |aeoansss
4/ M16 x 80
48.3 x7.14 (1112'SCH 160) | 49 | 34
4/ M16 x 60
il x 76 | 8o | 153 | 100 | 38 | 9 |5334x533
603xB74 (2SCH"60) | 61 | 4256
4/ M16x 100
73.0x9.53 21/2'SCH 160) | 73 | 54
4/M20 X 70
- 92 | 9 | 190 120 | 47 | 18 | 5969x533
76.1x10 76 | 56
4120 x 120
889x113(3'SCH160) | 90 | 67
4/M24 x 75
o | w 1m0 | 100 | 20| 150 | 48 | 145 | 7556%533
4/M24 x 130
1016 x 14.1 102 ] 73 4150 160
135 | 135 | 262| 180 | s0 | 175 | 8826533
3 80 | 114.3x1340(4'sCH160) | 115 | 875
4/M30 x 150
1413 x 1588 (5'SCH 120) | 142 | 1095
8/ M24 x 100
168 | 150 | 202 | 245 | 60 | 200 | 11366%5.33
4 | 100 [T307x20 140 | 995
8/M24 x 170
168.3 % 21.95 (6'SCH XXS) | 169 | 124
8/M30 x 110
i || 205 | 190 | 372 200 | 79 | 25 |[14850%6.99
8/ M30 x 200
8/ M36 x 130
245 | 200 | 301 ) 385 | 89 | 200 [18351x6.99
6 150 | 193.7x25 193 | 1435
8/ M36 x 220

34



Flange Assembly with Butt Weld End Connections
PN 160, PN 250 & PN 315

tmhi

TECHNOMECH INTERNATIONAL

DIMENSIONS : FH SERIES & FU SERIES - PN 315

HEX. BOLT
DN PIPE SIZE d| od1| 6d2l L | L1|BD| h T Ee
Ll ) SIZE FH SERIES
INCH | MM oDx WT FU SERIES
16x2.6 = 16 11 4 M10 % 35
g | qg | AIAX32@BSCHBO) LT | 05| o6 | 45 | @0 | 50 | 19 | 4 1712 262
4/ M10 x 55
;QZEEG ;g 1 4/ M10 X 35
1w | s EExe 18 8| s0 | 94| 60| 19| 54 25.07 x 262
213x373(12'SCHB0) | 22 | 135
4/ M0 x 55
26936 o7 | 185 M1 35
X
314 20 oG Al D) i 18 46 56 106 70 19 64 29.82 x 2.62
4/ M2 x 60
334 x 4.5 (1'SCH 80) u | 25 412240
1 25 s5| 64 | 122] 80 | 22 | 72 3459 x 262
4/M12x70
42956 _ a3 | a1 p—
| g [RRRXBIB(MASCHTEN 143 L 951 gy | 68 | 10| o0 | 20 | s | 4404x353
4/ M6 % 80
483 x7.14 (112" SCH 160) | 49 | 34
4/ M16 x 80
rar 76| s | 153] 100 | 38 | o8 53,34 % 5.33
60.3 x 8.74 (2'SCH "160) 61 425
4INH16 x 100
73.0 x 9.53 (21/2"SCH 160) 73 54
4/M20 X 70
3 . o2 | o8 | 10| 120 | 47 | 18 | so89x533
76.1x10 76 56
4/ M20 120
889x 11133 SCH160) | 0 | 67
4/ M24 x 75
w | mo| 108 | 210] 150 | 48 | 145 | 7556x53
4/ M24 x 130
101.6% 14.1 102 | 73 4/ M30 x 90
3 80 5 135 135 262 180 59 175 88.26 x 5.33
114, - . 115 7.5
143 x 13.49 (4"SCH 160) ——
1413% 1588 (5'SCH 120) | 142 | 1085
8/ M24 x 100
68| 150 | 202 | 245 | 89 | 200 | 11366%533
4 100 | 139.7x20 140 | 99.5
8/ M24 x 170
168.3 % 21.95 (6'SCH XXS
{ L o L e 8/M30x 110
e 205| 190 | am2| s00 | 70 | 245 | 14859 %699
8/ M30 x 200
8/ M36 x 130
25| 200 | 391 | 355 | 89 | 290 | 18351 %699
6 150 | 193.7x25 194 | 1435
8 M36 x 200

35



Flange Assembly with Butt Weld End Connections
FLANGES : PN - 250 STATIC & PN - 160 DYNAMIC

PN - 400 STATIC & PN - 315 DYNAMIC

TECHNOMECH INTERNATIONAL

CBH CBU

PART MATERIAL Qry

1) FLANGE IS. 2062 1 1
2) SLEEVE WITH GROOVE IS. 2062 1 -1
3) SLEEVE WITHOUT GROOVE IS. 2062 - 1
4)"0O" RING NITRILE RUBBER 1 1
5) HEX. HD. CAP SCREW IS. 1363 4 4
6) SPRING WASHER IS. 3063 4 4
7) HEX NUT IS. 1363 - 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : PN 250 STATIC & PN 160 DYNAMIC = 3750 PSI HYDROSTATIC @ ROOM TEMPERATURE.
PN 400 STATIC & PN 315 DYNAMIC = 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

2958 1 4
L] C
(“-/],- P 2 T I e | A i—
C)ree 39
g S (/H\ l | I i
[\_Q/J \_V/I [ ] J
}—- F—=]f | - h .‘
CBH
HALF FLANGE ASSEMBLY

CBU
UNION FLANGE ASSEMBLY

36



Flange Assembly with Butt Weld End Connections
FLANGES : PN - 250 STATIC & PN - 160 DYNAMIC

tmi

TECHNOMECH INTERNATIONAL

PN - 400 STATIC & PN - 315 DYNAMIC

DIMENSIONS : PN 250 STATIC & PN-160 DYNAMIC

g!l;E PcI:BE éD1|¢D | B h F I L '0'RING ARLT SiFE
INCH| MM SIZE HALF FLANGE |UNION FLANGE
aw | 10 17.1 12518 |40 | 18 [247| 30 | 60 | 17.12x262 4/M6 X 30 4/MBx45
12 15 213 15 24 45 20 2871] 30 60 18.64 x 3.53 4/M8 X 35 4/M8 x 50
34 20 26.7 20 32 50 22 354 | 35 70 2499 x 3.53 4/M8 X 35 4/M8 x 55
1 25 334 25 38 65 25 438 | 40 80 3292353 4/M10 X 40 4/M10 x 65
114 | 32 423 32 | 43 |75 | 30 [516]45 | 90 | 37.69x353 4M12%50 | 4M12x75
112 ] 40 483 38 |50 [90 |36 [601]50 | 100 47.22x353 4M16x60 | 4/M16x90
2 | 50 60.3 47 | 62 |100 | 40 | 693 | 60 | 120 | s674x353 4M16%65 | 4/M16x100
212 65 73.0 58 76 120 45 834 | 70 140 69.44 x 3.53 4/M20 x 80 4/M20 x 110
3 | 80 88.9 70 |90 | 140 | 52 |1025| 80 | 160 [ 8532x353 4M20%90 | 4/M20x120

DIMENSIONS : PN_400 STATIC & PN-315 DYNAMIC

PIPE
PIPE '0'RING BOLT SIZE
INCITZEMM o2 il Al ° " " ! ) S HALF FLANGE | UNION FLANGE
38 10 171 1" 18 40 18 | 247 | 35 70 17.12x 2,62 4/M86 x 30 4IM8 x 45
12 15 213 14 24 45 20 | 297 | 40 80 18.64 x 3.53 4/M8 x 35 4/M8 x 50
314" 20 26.7 18 32 50 22 | 354 | 45 90 2499 % 3.53 4/M8 x 35 4/M8 x 55
i 25 334 22 38 65 25 | 438 | 50 100 32.92x3.53 4/M10 x 40 4/M10 x65
1.4 32 42.3 29 | 44 75 30 | 516 ] 55 10 37.69 % 3.53 4/M12 x 50 4M12 x 75
1.1/2] 40 483 35 51 90 36 | 601 | 60 120 47.22x 353 4/M16x60 4/M16x90
2 50 60.3 43 67 | 100 | 40 | 693 | 70 140 56.74 x 3.53 4/M16 x 65 4/M16x100
212 65 73.0 53 80 | 120 | 50 | 834 | &0 160 69.44 x 3.53 4/M20 x 80 4/M20 x 130
ki 80 88.9 58 90 | 150 | 52 |1025] 90 180 85.32x3.53 4/M24 x 90 4IM24 % 130
32| 89 101.6 63 102 | 160 | 60 |113.1] 90 180 98.02x 3.53 4/M24 x 100 4IM24 x 150
4" 100 1143 74 | 114 | 180 | 7O |123.7 1105 | 210 110.72 x 3.53 4/M30 x 120 4IM30 x 170

37



Flange Assembly with Socket Weld End Connections
FLANGES : PN - 250 STATIC & PN - 160 DYNAMIC

tmi

TECHNOMECH INTERNATIONAL

PN - 400 STATIC & PN - 315 SYNAMIC

CSH csu

PART MATERIAL Qry

1) FLANGE 1S. 2062 1 1
2) SLEEVE WITH GROOVE 1S. 2062 1 1
3) SLEEVE WITHOUT GROOVE 1S. 2062 - 1
4)"0"RING NITRILE RUBBER 1 1
5) HEX. HD. CAP SCREW 1S. 1363 4 4
6) SPRING WASHER 1S. 3063 4 4
7) HEXNUT 1S. 1363 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED

TEST PRESSURE : PN 250 STATIC & PN 160 DYNAMIC = 3750 PS| HYDROSTATIC @ ROOM TEMPERATURE.
PN 400 STATIC & PN 315 DYNAMIC = 6000 PSI HYDROSTATIC @ ROOM TEMPERATURE.

DIMENSIONS : PN 400 STATIC & PN 350 DYNAMIC

HEX, BOLT
DN PIPE SIZE {d od1 I L J B h|F '0' RING SIZE
SIZE
HALF
INCH | MM 0OD-WT UNION
16%2.0 11 16.5
17.1x3.2 1 17.6 M8x30
38 | 10 30 | 60 | 12| 45| 13 |207| 1864x353
M 8 x40
20x3.0 14 20.5
21.3%4.75 12 21.7 M8 x30
17 | 13 35 | 70 | 13| 50| 15 |353| 2499x353
M8 x 45
25x4.0 17 255
26.7 % 5.56 16 27.3 M10x35
34 | 19 40 | 80 | 14 | 65 | 17 | 438 | 3292x353
M 10 x 50
30x45 21 305
32x50 22 325 M 12 x40
1 25 334 % 6.35 21 340 45 90 16 75 18 | 516 | 37.69x3.53
M 12 % 60
38x6 26 38.5
40 %6 28 407 M 14 x45
1% 32 422%635 30 43.0 50 100 18 &5 22 | 60.0 47.22x 3.53
M 14 x 70
483x7.14 35 49.0
50x7.3 35 50.7 M 16 x 55
1% | 38 60 | 120 | 20 | 100 | 27 | 694 | 5674x353
M 16 x 80
60.3x 11.07 38.5 61.0
63 x 10 43 64.0 M 20 x65
2 | 5 70 | 140 | 22 | 120 33 | 834 | 6944x353
M 20 % 100
73 x 14.02 45 74.0 M 24 x 75
80 | 160 | 24 | 150 | 37 [1025) 8532x353 [ .. .0
1
2% | 65 76.1 %12 53 77.0 M 24 x 90
100 [ 200 | 24 | 150 | 45 |1025| 98.05x3.53
M 24 x 120
88.9x 15.24 58 90.0
90 %15 60 91.0 M 24 x 100
3 |80 100 | 200 | 28 | 160 | 50 |113.2] 110.72x353
M 24 x 140

38



CETOP PR 63 H. AFNOR 48-0 54. ISO 6164 Socket Weld End Flanges

FLANGES : PN - 250 STATIC & PN - 160 DYNAMIC
PN - 400 STATIC & PN - 315 SYNAMIC

tmi

TECHNOMECH INTERNATIONAL

62145

l‘_

O o

| w® 1 I_ T
1 s

—F
CSH CSu
HALF FLANGE ASSEMBLY UNION FLANGE ASSEMBLY

DIMENSIONS : PN_250 STATIC & PN-160 DYNAMIC

HEX, BOLT
DN PIPE SIZE dd | pd1 | L J| B | h F ‘0' RING SIZE
SIZE
HALF
INCH| Mmm | OD UNION
16 %2 125 | 165
17.1x3.20 107 | 178 M8x30
a8 | 10 30 | 60 | 12 | 45| 13 | 297 | 1864x353
M8x40
20 15 | 205
213x3.73 14 | 217 M8 x30
12 |13 3 | 70 | 13| 50| 15 |353| 24.99x353
M8 x 45
25%25 20 | 255
26.7 x3.91 19 [ 273 M10x 35
34 | 19 40 | 80 | 14| 65| 17 | 438 | 3292x353
M 10 x 50
30%25 25 | 305
32%35 25 | 325 M 12 x40
1 | 25 T34x455 95 | a0 | 45 | %0 | 18| 75 [ 18 | 516 3769x353
35x5 25 355 M12 x 60
38x3 32 | 385
40x4 32 | 407 M 14 x 45
1% | 32 222x485 22 | 430 | 50 | 100 | 18 | 85| 22 | 600 | 47.22x353
M14x70
48.3x5.08 38 | 49.0
50 x 6.0 38| 50.7 M 16 x 55
1% | 38 60 | 120 | 20 | 100 | 27 | 694 | 5674x353
M 16 x 80
50.3 x 8.75 46 | 61.0
53.5x 8.0 47 | 640 M 20 x 65
2 | 51 70 | 140 | 22 | 120 33 | 834 | 6944x353
M 20 x 100
73x9.53 54 | 740 M 24 x 75
80 | 160 | 24 | 150 | 37 [1025]| 8532x383 [ o, .o
1
2% | 65 76.1 x9.00 58 | 77.0 V1 24 % 90
100 | 200 | 24 | 150 | 45 |1025| 98.05x353
1M 24 x 120
86.9 x 11.13 70 | 900
90x 10 70 | 910 M24x 100
3 |80 100 | 200 | 28 | 160 | 50 |1132| 110.72x3.53
M 24 x 140

39



— Square Flange Assembly with Socket Weld End Connections\
t I PN 100, PN 160 & PN 250

TECHNOMECH INTEENATIONAL

NSF NSU

PART MATERIAL QrTy

1) FLANGE WITH GROOVE IS. 2062 1 1
2) FLANGE WITHOUT GROOVE IS. 2062 - 1
3) "O" RING NITRILE RUBBER 1 1
4) SPRING WASHER IS. 3063 4 4
5) HEX. HD. CAP SCREW IS. 1363 4 4
6) HEX NUT IS 1363 - 4

FINISH : ALL CS PARTS ARE PHOSPHATIZED.

TEST PRESSURE : PN 100 bar : 1400 PSI HYDROSTATIC @ ROOM TEMPERATURE
PN 160 bar : 2400 PSI HYDROSTATIC @ ROOM TEMPERATURE
PN 250 bar : 3750 PS| HYDROSTATIC @ ROOM TEMPERATURE

> 4 13
1 My T f
}I“\\T,//' ‘ j: N ﬁ\v/ {
[}" { ) (O & ]
AN
}"\?/
| C e
e Ly
HALF FLANGE ASSY
i 2T
P i
N \\Q\,,/
l[ ‘ : ‘J S
/‘“\
-, -~
S 1
—— C —
- (,] i
UNION FLANGE ASSY

40



Square Flange Assembly with Socket Weld End Connections
PN 100, PN 160 & PN 250

tm

TECHNOMECH INTEENATIONAL

DIMENSIONS : PN 100

o FIRE SR PARTNO. | 4g | ¢d1| t | b a c BOLT | 'O'RING
= = SN712 SIZE SIZE
12 | 15 213 A1522100 | 2 | 15 | 13 | 39 | 50 35 |4MBx50 | 186x3.53
34 | 20 26.7 A2027-100 | 27 | 20 | 13 | 39 | 50 35 |4MBx50 | 25.0x3.53
1 | 25 334 A25/34-100 | 34 | 25 | 18 | 52 | 75 52 | 4M10x70 | 329x3.53
1% | 32 422 A32143100 | 43 | 32 | 16 | 52 | 75 52 | 4mi2x70 | 377x3.53
1% | 40 483 Ad0i49-100 | 49 | 40 | 20 | 80 | 100 | 70 |4Mi2x100| 440x353
2 | 80 60.3 A50/61-100 | 61 | 50 | 20 | 90 | 110 | 75 |4M16x110| 57.0x4.0
2% | 85 73.0 AB5T4-100 | 735 | 65 | 25 | 110 | 140 | 100 |4/M16x130[ 70.0x4.0
3 | 80 88.9 A80/90-100 | 90 80 | 25 | 140 | 160 | 120 | 4/M20x160] 90.0x5.0
DIMENSIONS : PN 160
DN PIPE SIZE PARTNO. | 4g [qat | t | b " " BOLT '0'RING
SN 712 SIZE SIZE
INCH | MM oD
12 | 15 213 A15/22-160 | 22 | 14 | 12 | 38 | 45 | 295 |4MBx50 | 186x353
34 | 20 2.7 A2027-160 | 27 | 19 | 13 | 40 | 50 | 355 |4mM8x65 | 250x3.53
1 | 25 334 A2534-160 | 34 | 24 | 14 | 44 | 65 | 44 |4/Mi0x60 | 329x353
1% | 32 422 A3243-160 | 43 | 32 | 16 | 52 | 75 | 51 |4mi2x70 | 37.7x3.53
1% | 40 483 A4049-160 | 49 | 40 | 20 | 80 | 100 | 70 |4M12x100| 440x353
2 | 50 60.3 As0/61-160 | 61 | 50 [ 20 | 90 | 110 | 75 |4M16x110| 57.0x40
2% | 65 730 AB574-160 | 74 | 60 | 25 | 110 | 140 | 100 |4/M16x130| 70.0x4.0
3 | 80 88.9 AB0IG0-160 | 90 | 73 | 25 | 140 | 160 | 120 |4/M20x160| 90.0x50
DIMENSIONS : PN 250
DN PIPE SIZE PARTNO. | 4g | gat | ¢ | b a c BOLT '0' RING
T = SNT712 SIZE SIZE
12 | 15 213 A1522250 | 22 | 12 | 13 | 50 | 60 | 365 |4Mi0x65 | 186x3.53
34 | 20 267 A20i27250 | 27 | 15 | 13 | 50 | 65 | 445 |4M10x65 | 250x3.53
1 | 25 334 A2s34-250 | 34 | 21 [ 13 | 50 | 75 51 | 4M12x70 | 329x3.53
1% | 32 422 A3243-250 | 43 | 20 | 16 | 64 | 100 | 70 |4M16x80 | 37.7x3.53
1% | 40 483 Ad049-250 | 49 | 34 | 20 | 90 | 100 | 70 |4M16x110| 440x353
2 | 80 60.3 Asoiet-250 | 61 | 40 | 20 | 90 | 110 | 75 |4M16x110| 440x353
2% | 65 73.0 pAe574-250 | 74 | 50 | 20 | 110 | 140 | 100 |4M16x130| 57.0x4.0
3 | 8 88.9 AB0/G0-250 | 90 | 65 | 25 | 140 | 160 | 120 |4/M20x160| 70.0x50

41



triii )

TECHNOMECH INTEENATIONAL

Note :

42



triii )

TECHNOMECH INTERNATIONAL

Note :

43



TECHNOMECH INTERNATIONAL

Registered Address: 102; Bldg 1, Opp Yamuna Nagar,
Oshiwara, Andheri - West, Mumbai - 400053

Corporate Address: 212, Heena Arcade Commercial
complex, Jogeshwari - West, Mumbai - 400102.
Telefax: 022-26788017

Direct Numbers:
+91-9967838972 | +91-7666982141
+91-8286006200 | +91-9619143766

Email: sales@technomechinternational.com
info@technomechinternational.com

Website: www.technomechinternational.com




